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779 MEANT A1) 15. 600
A=V = VB (T h—) 1. 000
C E AT Bacl (0 12.76) 10. 000
C ERG|3E4f 65CE (¢ 12.7X6) 304. 300
C BB EA R BaCl (0 12.76) x 10. 000
TXAFLT A E R BaCE (0 12.76) A 30. 000
FANFY VT 65CE-% A 7 2 1l 10. 000
~y RT X7 H— 65CE-% A 7 2 & 10. 000
TrH sy R 65CE 1 10. 000
TrA—TL— bk (X yFE) [1300%X32 ¢ 86 ¥ 10. 000
Vad- $12.7 il 60. 000
By as Frma—hC  16kg/f 1 1. 000
T DL AN LRy d— SPW-180 m 70. 000
779 MEAR—A m 279. 900
TYVv AT L—1 (BARY) 6165 (0° ~15° ) i 4. 000
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H HibR VWA B I t=10mm i 9. 200
B L N T, ¥ SD345, D16 ton 0. 730
B L N T, $AS7 SD345, D19 ton 1. 140
B L e T, ¥ SD295, D10 ton 0. 090
EEA Ve =1 —fEEVP 1240 R4 Om A 2. 000
a2y U—h gg—sqo%‘gmﬁg, ek m3 1. 400
T — R, By Lav))-b nt 2. 000
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SRR nt 14. 000
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+T =X 1. 000
AR g+ m3 44. 000
AR | BEtL—X m3 9. 000
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B e BE 1, 11. 3km m3 35. 000
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G Bin & LA o m3 4. 000
3. VEABhREM L
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SCHEREA L T (B3 AT) EN 2. 000
SCHEREA LT (R SH) EN 2. 000
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BRI T X 1. 000
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ZIENE LMy b B 1. 000
e —7 m 11. 000
A H A EN 5. 000
T —T E20 1. 000
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AR L (B2 5) & T 4. 000
AL (m—71245) & 6. 000
EAFTR T (#E8) m3 0. 030
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